CHWHYC U KOCUHYC Pa3HOCTMU
aprymMeHToB



YnpaxXHeHune:

lanTK 3HAYEHUA BbIPaXKEHNN:

sin63°cos 27°+ cos 63°sin27° =1
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COSBCOSB Sm85m8 =



sin(x+y) =sinx-cosy +cosx-siny

cos(x +y) =cosx-cosy—sinx-siny



sin(x +y) =sinx-cosy+cosx-siny

sin(x — y) = sin(x + (~y)) = sinx - cos(—y) +
+ cos x sin(—y)

sin(—x) = —sinx

cos(—x) = cos x

sin(x —y) =sinx-cosy —cosx-Siny



cos(x+y) =cosx-cosy —sinx-siny

cos(x —y) =cos(x + (=y)) = cosx - cos(—y) —
+ sinx sin(—y)

sin(—x) = —sinx

cos(—x) = cos x

cos(x —y) =cosx-cosy+sinx-siny



[Tpumep:
sin(x —y) =sinx-cosy —cosx -siny

Bblumcants sin 15°.
PeweHwne:
15° = 45° — 30°
sin 15° = sin(45° — 30°)
sin 15° = sin45° - cos 30° — cos 45° - sin 30°
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sin 15° =

OTBeT: sin 15° = \/EZ/E.




[Tpnmep:
cos(x —y)=cosx-cosy+sinx-siny
Bblumcnutb cos 15°.
PeweHwue:
15° = 45° — 30°
cos 15° = cos(45° — 30°)
cos 15° = cos 45° - cos 30° + sin45° - sin 30°
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cos 15° =

V6+v2
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OTBeT: cos 15° =



[Tpnmep:

sin(x —y) =sinx -cosy —cosx - siny
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y{lpOCTMTb BblpaXeHue sin (? - a) - E COoS (.

PeweHue:
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sin 6 a | = sin 6 COS @ — COS 6 sina
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sin 6 =sin|\n 6 = SINT - CoS 6 COST Sm6—2
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cos 6 =cos |1 6 = COST COS6 SinT Sm6— >
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sin 6 a Zcosa—zcosa > sina 2cosa— > sina
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OTBeT: sin ?—a =7sma.



[Tpumep:

cos(x +y) =cosx-cosy—sinx-siny
MNpPOCTUTL BbipaXKeHue

cos(a — B) — cos(a + B).

PeweHwue:

cos(a —B) —cos(a+ B) =cosa-cosf +sina-sinff —
—cosa-cosf +sina-sinff =2sina-sinf

cos(x—y)=cosx-cosy+sinx-siny

OtseT: cos(a — f) — cos(a+ B) = 2sina - sinf.



[Tpnmep:

sin(x —y) =sinx-cosy —cosx - siny

[OKa3aTb TOXAECTBO cos(x —y) =cosx-cosy +sinx -siny

sin(30° — a) — cos(60° — a) = —V/3 sina.
J[10Ka3aTenbCTBo:
. . . 1 V3
sin(30° —a) = sin30° - cosa — cos 30° - sina = Scosa——-sina
. . 1 V3
cos(60° — a) = cos 60° - cos a + sin60° - sina = Ecos a + 7sm 04
V3 1 V3
sin(30° — a) — cos(60° — ) =7 cosa —7sina —5cosa —7Sina =

= —/3sina.



JdoKazaTb TOXKAECTBO sin(x —y) =sinx-cosy —cosx - siny

V3 1 . . (T
7COSX—ESlnx=Sln E—x .

[loKa3aTenbCTBO:
_ (n ) T T V3 1
Sin{——x)=SIiN—=-co0SX —COS—=*SINX =——COSX —=SInXx
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cos(x—y)=cosx-cosy+sinx-siny
HanTn 3HaYeHne BblpaXKeHUsn

cos 107°-cos17°+ sin107°-sin17°.

PeweHwne:
cos 107° - cos 17° + sin107° - sin 17° = cos(107° — 17°) =
=c0s90°=0

Otser: 0.



PewuTb ypaBHeHue cos(x —y) =cosx-cosy +sinx-siny

coS6x -cosx +sinbx -sinx = 5

PeweHwue:
coS 6x - cos x + sin 6x - sinx = cos(6x — x) = cos 5x
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cosSx=§=>5x=i§+27tk,kEZ
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[Tpnmep:
sin(x —y) =sinx-cosy —cosx -siny
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Bbluncantb sin (t —
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PeweHwne:




sin%x + y% =Ssinx-cosy+ cosx-siny
HaNTV KOpHM ypaBHEHMA cos(x —y) =cosx-cosy+sinx-siny
sin0,2x - cos 0,8x + cos 0,2x - sin0,8x = cos 3x - cos 2x + sin3x - Sin 2x Ha
npomeskyTke [0, 37t].

PeweHue:

sin0,2x - cos 0,8x + cos 0,2x - sin 0,8x = sin(0,2x + 0,8x) = sinx

cos 3x - cos 2x + sin3x - sinx = cos(3x — 2x) = cos x

Sinx = cos x
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